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Section : General Knowledge

Q.1 In which river was the open water swimming and triathlon events held during the
2024 Paris Olympics?

Ans x 1. Loire
« 2. Seine
x 3. Rhone

x 4. Garonne

Q.2 Who launched the Non-Ferrous Metal Recycling Website and Stakeholders’ Portal

on 7 May 2025, as part of India's efforts toward a sustainable circular economy?
Ans x 1. Minister of Environment, Forest and Climate Change
% 2. Minister of Steel
« 3. Minister of Coal and Mines
X 4. Minister of Heavy Industries
Q.3 Who initiated the construction of the Quwwat-ul-Islam mosque, the first mosque
built in Delhi after the Islamic conquest of India?
Ans x 1. lltutmish
x 2. Alauddin Khilji
« 3. Qutb-ud-din Aibak
x 4. Muhammad Ghori
Q.4 Which of the following was the venue for the Conference of Party 28 (COP 28)?
Ans  x 1. Japan
X 2. India
X 3. Saudi Arabia

« 4. Dubai
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Q.5 Which of the following states recorded the largest decline in the number of
Multi-Dimensional Poverty Index (MPI) poor between 2013-14 and 2022-23?

Ans x 1. Maharashtra, Tamil Nadu and Gujarat
x 2. West Bengal, Odisha and Assam
x 3. Rajasthan, Punjab and Haryana

« 4. Uttar Pradesh, Bihar and Madhya Pradesh

Q.6 In reference to types of forests in India, Ebony, Mahogany and Rosewood trees

arefoundin
Ans 1. tropical evergreen forests
x 2. thorn forests
x 3. mangrove forests

% 4. montane forests
Q.7 In July 2024, who was appointed as the Head Coach of the Indian men's cricket
team?

Ans x1.M S Dhoni

x 2. Virat Kohli
« 3. Gautam Gambhir

x 4. Rahul Dravid

Q.8 The eleventh fundamental duty was added to the Indian Constitution in which of

the following years?
Ans »1.2002

x 2.2003

x 3.2000

x 4.2001
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Q.9 Which of the following fundamental rights is violated in the case below?
Some poor people in a village were not allowed to use the front road of their

house.
Ans x 1. Cultural and educational rights
x 2. Right to constitutional remedies
« 3. Right to equality

x 4. Right to freedom of religion

Q.10 In 2025, Prime Minister Narendra Modi announced the formation of which of the
following bodies, aimed at reducing the role of the state in governance and

promoting economic liberalisation?
Ans x 1. National Economic Advisory Council
% 2. Administrative Reforms Task Force
« 3. Deregulation Commission
x 4. Commission for Ease of Doing Business
Q.11 Which of the following Articles of the Indian Constitution allows the Supreme
Court to transfer cases from one High Court to another?
Ans x 1. Article 142
x 2. Article 145
« 3. Article 139A

x 4. Article 140

Q.12 Which of the following social reformers founded the 'The Hindu Family Annuity
Fund'?

Ans x 1. Raja Ram Mohan Roy
x 2. Keshab Chandra Sen
x 3. Gopal Ganesh Agarkar

« 4. Ishwar Chandra Vidyasagar

Q.13 Who among the following defeated Yaldauz in 1215 AD in the battle of Tarain?
Ans 1. Shamsuddin Iltutmish

¥ 2. Nasiruddin Mahamud

x 3. Bahram Shah

x 4. Ruknuddin
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Q.14 In which of the following states of India is Khangchendzonga National Park

located?

Ans 1. Sikkim
x 2. Himachal Pradesh
x 3. Kerala

x 4. Uttar Pradesh

Q.15 According to Indian Minerals Yearbook 2022, which of the following state was
the only State reporting production of lead concentrate and zinc concentrate
during 2021-227

Ans x 1.Kerala
x 2. Madhya Pradesh
« 3. Rajasthan

x 4. Jharkhand

Q.16 In which year was the first complete census conducted in India?
Ans x1.1987

x 2.1885

x 3.1883

v 4.1881

Q.17 Who among the following is considered as the head of the Government in a

Parliamentary form of Government?
Ans x 1. Chief Minister
x 2. Speaker of the House
x 3. President

« 4. Prime Minister

Q.18 When was the ‘Brahmo Samaj’ founded?
Ans x 1.1890

v 2.1828

x 3.1830

x 4.1928
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Q.19 In which State of India is the Marram Nagas tribe mainly found?
Ans 1. Manipur

x 2. Nagaland

x 3. Haryana

x 4. Rajathan

Q.20 Which of the following statements are correct with respect to the history of
India?

(1) The British fought four wars with the rulers of Mysore in India.
(2) The East India Company joined the ruler of Hyderabad against Hyder Ali in
return for the cession of the Northern Sarkars in 1899.

(3) Tipu Sultan was killed in the Battle of Seringapatam defending his capital

Seringapatam.
Ans 1.0nly Tand3
x2.1,2and 3
% 3.0nly 2and 3
K 4.0nly Tand 2

Section : Logical Reasoning

Q.21 Refer to the following number series and answer the question that follows.
(All numbers are single-digit numbers only.)
(Left)8215798526215737843697452 41 (Right)
How many such odd digits are there, each of which is immediately preceded by an
even digit and also immediately followed by an even digit?

(Counting to be done from left to right only.)
Ans x 1.Two

x 2. Four

x 3.0ne

« 4. Three
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Q.22 Select the set in which the numbers are related in the same way as are the

numbers of the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into their constituent digits. E.g. 13 — Operations on 13 such
as adding / subtracting / multiplying to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not

allowed.)

(18, 7, 39)
(16, 9, 43)

Ans  1.(3,31,96)
x2.(6,21,63)
% 3.(9,15,57)

x 4.(10, 17, 62)

Q.23 Refer to the following number series and answer the question.
(Left)6827364928736429873462983742(Right)

How many odd digits are there that are NOT immediately preceded by an even
digit?
Ans x 1.Two
x 2. Three
« 3. Four

x 4.0ne
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Q.24 Cis the brother of B. W is the daughter of P. K is the daughter of B. N is the
husband of P. W is the wife of B. How is N related to K?

Ans x 1. Father’s mother
« 2. Mother’s father
x 3. Father’s father

x 4. Brother’s wife

Q.25 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans 1.

OO
AOOA
v ooy

OO

[

OO
DEIEI
P> <
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Q.26 What will come in place of the question mark (?) in the following equation if ‘+’

and ‘=’ are interchanged and -’ and “x’ are interchanged?

162 +18x6-12 + 80 =7

Ans 1.1/

x2.26
x3.24

x4.10

Q.27 Based on the English alphabetical order, three of the following four letter-
clusters are alike in a certain way and thus form a group. Which letter-cluster
DOES NOT belong to that group? (Note: The odd one out is not based on the

number of consonants/vowels or their position in the letter-cluster.)
Ans 1. YGC

x 2. RYV

x 3. HOL

x 4. FM]

Q.28 Select the pair that follows the same pattern as that followed by the two pairs
given below. Both pairs follow the same pattern.
BXO : EBR
HVG : KZ)

Ans x1.DCT: BV
¢ 2.JSA : MWD
x 3.ZBl: DDK

x 4. LAV : OCX
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Q.29 In the following number-pairs, the second number is obtained by applying certain

mathematical operations to the first number. Which numbers should replace X
and Y, so that the pattern followed by the two numbers on the left side of :: is

same as that on the right side of ::?

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into their constituent digits. E.g. 13 — Operations on 13 such
as adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into

1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

X:149::62:Y

Ans x1.X=72,Y=127

x2.X=74,Y =165
x3.X=73,Y=167

4. X=74,Y=125

Q.30 Refer to the following number series and answer the question that follows. (All
numbers are single-digit numbers only.)
(Left)1325689284132579845268935 (Right)

How many such odd digits are there, each of which is immediately preceded by an
even digit and also immediately followed by an odd digit? (Counting to be done

from left to right only.)
Ans x 1. Two
x 2. Four
x 3.0ne

« 4. Three
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Q.31 In the following triads, each group of letters is related to the subsequent one
following a certain logic. Select from the given options, the one that follows the

same logic.

APES - EAPS - SEPA
CALM - LCAM - MLAC

Ans x 1. GAIN - GIAN - NIAG
% 2. RING - IRNG - GINR
« 3. HURT - RHUT - TRUH

< 4. RAIN - IRAN - AINR

Q.32 What should come in place of the question mark (?) in the given series?

-7 21-63 189 ? 1701
Ans x1.-559
x 2.-561
3. -567
x 4.-556
Q.33 Based on the English alphabetical order, three of the following four letter-cluster
pairs are alike in a certain way and thus form a group. Which letter-cluster pair
DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their

position in the letter-cluster.)
Ans x1.JM-NQ
¢ 2.DG-IL
x 3.BE - FI

x 4.PS - TW
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Q.34 What will come in place of the question mark (?) in the following equation, if 'x'

and '-' are interchanged, and '+’ and '+' are interchanged?

682 +22-5=25x11=7?
Ans »1.169

x 2.187

x 3.185

x 4.170

Q.35 Seven people, W, X, Y, Z, P, Q, and R, are sitting in a row, facing north.
R is second to the left of Q.
W and Y sit at the two extreme ends.
P sits immediately next to both Q and Y.
Z sits to the immediate right of W.
X sits immediately next to both R and Q.
Who sits to the immediate right of X?

Ans x1 W
x2.R
v 3.0
x4.Y

Q.36 What will come in the place of the question mark (?) in the following equation, if

‘+’and ‘-’ are interchanged, and x’ and ‘<’ are interchanged?

30:2x3+8-4=7
Ans x1.12

x2.14

x3.8

w416
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Q.37 What should come in place of the question mark (?) in the given series?

522 488 454 ? 386 352
Ans x 1. 418
v 2. 420
X3 424
X4 432
Q.38 Which of the following letter-clusters should replace # and % so that the pattern

and relationship followed between the letter-cluster pair on the left side of :: is

the same as that on the right side of ::?

#:UOZ::BLG: %
Ans x 1. #=TNY, % =CMI
x 2. #=TMY, % = DNH
x 3. #=5SNX, % =CNH
& 4. #=SMX, % = DNI

Q.39 In a race, Raji is behind Jyo, who is behind Anvi. Manu is ahead of Anvi but behind

Vinutha. Gouri is ahead of Vinutha. What conclusion can definitely be drawn from

the above statements?
Ans 1. Vinutha is ahead of Iyo.
X 2. Manu is behind Raji.
X 3. Iyo is ahead of Manu.

X 4. Manu is ahead of Gouri.
Q.40 Refer to the following letter series and answer the question.
(Left) FJFVCSXNIPCBSWBNNZCNPBDGS (Right)

How many letters are there in the English alphabetical series between the fourth

letter from the left and the sixth letter from the right?
Ans x 1. Two

x 2. Six

x 3. Eleven

« 4. Seven
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Section : General English and Comprehension

Q.41 Select the most appropriate meaning of the given idiom.

Live hand to mouth

Ans x 1. To have no money to provide food and shelter
x 2. To live king-like
x 3. To work hard for a living

« 4. To have only enough money to provide food and shelter

Q.42 Select the most appropriate ANTONYM of the given word.

Remember
Ans 1 Forget

x 2. Think

x 3. Memorise

x 4. Owe

Q.43 Select the most appropriate option to fill in the blank.

During the interview, the candidate his past failures as valuable

lessons that shaped his current approach to problem-solving.

Ans 1. highlighted
x 2. fabricated
x 3. concealed
x 4. punished

Q.44 Select the option that can be used as a one-word substitute for the given group
of words.

A government by the wealthy
Ans x 1. Theocracy
x 2. Autocracy
x 3. Democracy

« 4. Plutocracy
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Q.45 Select the most appropriate option to fill in the blank.

Mary __ swim across the river in 10 minutes.
Ans x 1. were
x 2. be
x 3. had

« 4. can

Comprehension:

Read the following passage and answer the questions that follow.

Vandana Shiva, a renowned environmentalist and social activist, opposes aspects of
globalisation that harm life and society. With a background in science and philosophy, she
critiques the Green Revolution and Genetically Modified Organisms (GMOs) for their
adverse effects on India's indigenous farming. She criticises the idea that everything is
hard matter, unrelated to each other. Her work on quantum theory emphasises
interconnectedness of all life. She believes that science is taught in a one-eyed fashion: all
about how to unleash things into the environment but not the impact. She argues that the
current scientific approaches, influenced by mechanistic thinking, overlook the impact on
ecosystems. Shiva advocates for 'seed freedom,' opposing multinational corporations'
control over seeds, which she sees as a threat to life's evolution. She calls for a new
paradigm to live harmoniously with nature, criticising globalisation as a force that
perpetuates inequality, environmental destruction, and cultural erosion, calling it a 'war

against nature, women, children, and the poor.’
SubQuestion No : 46

Q.46 What has Vandana Shiva discussed in the passage?

Ans x 1. Vandana Shiva claims that the environment is totally unrelated, and it is a hard

matter that functions in isolation.

« 2. Vandana Shiva voices for indigenous farming practices, bio diversity, and the rights

of the farmers.
x 3. Vandana Shiva advocates for Green Revolution as it increases the output.

x 4. Vandana Shiva recommends genetically modified organisms as they increase the

fertility of the soil.
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Comprehension:

Read the following passage and answer the questions that follow.

Vandana Shiva, a renowned environmentalist and social activist, opposes aspects of
globalisation that harm life and society. With a background in science and philosophy, she
critiques the Green Revolution and Genetically Modified Organisms (GMOs) for their
adverse effects on India's indigenous farming. She criticises the idea that everything is
hard matter, unrelated to each other. Her work on quantum theory emphasises
interconnectedness of all life. She believes that science is taught in a one-eyed fashion: all
about how to unleash things into the environment but not the impact. She argues that the
current scientific approaches, influenced by mechanistic thinking, overlook the impact on
ecosystems. Shiva advocates for 'seed freedom,' opposing multinational corporations'
control over seeds, which she sees as a threat to life's evolution. She calls for a new
paradigm to live harmoniously with nature, criticising globalisation as a force that
perpetuates inequality, environmental destruction, and cultural erosion, calling it a 'war

against nature, women, children, and the poor.'
SubQuestion No : 47
Q.47 Identify the fact given in the passage from the options.
Ans x 1. Genetic engineering believes genes are related with each other.
x 2. Green revolution promotes indigenous farming practices.
« 3. Vandana Shiva is convinced that the earth is interconnected.

x 4. Globalisation promotes monoculture and peace in the society.
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Comprehension:

Read the following passage and answer the questions that follow.

Vandana Shiva, a renowned environmentalist and social activist, opposes aspects of
globalisation that harm life and society. With a background in science and philosophy, she
critiques the Green Revolution and Genetically Modified Organisms (GMOs) for their
adverse effects on India's indigenous farming. She criticises the idea that everything is
hard matter, unrelated to each other. Her work on quantum theory emphasises
interconnectedness of all life. She believes that science is taught in a one-eyed fashion: all
about how to unleash things into the environment but not the impact. She argues that the
current scientific approaches, influenced by mechanistic thinking, overlook the impact on
ecosystems. Shiva advocates for 'seed freedom,' opposing multinational corporations'
control over seeds, which she sees as a threat to life's evolution. She calls for a new
paradigm to live harmoniously with nature, criticising globalisation as a force that
perpetuates inequality, environmental destruction, and cultural erosion, calling it a 'war

against nature, women, children, and the poor.'

SubQuestion No : 48
Q.48 What can be inferred from her notion 'seed freedom'?
Ans x 1. The seeds should be removed from the shells.

« 2. Farmers should have the liberty to save seeds, exchange seeds, and sow seeds
without paying.
« 3. Farmers should have the freedom to buy seeds from any corporate.

x 4. Seeds should be free from pesticides.
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Comprehension:

Read the following passage and answer the questions that follow.

Vandana Shiva, a renowned environmentalist and social activist, opposes aspects of
globalisation that harm life and society. With a background in science and philosophy, she
critiques the Green Revolution and Genetically Modified Organisms (GMOs) for their
adverse effects on India's indigenous farming. She criticises the idea that everything is
hard matter, unrelated to each other. Her work on quantum theory emphasises
interconnectedness of all life. She believes that science is taught in a one-eyed fashion: all
about how to unleash things into the environment but not the impact. She argues that the
current scientific approaches, influenced by mechanistic thinking, overlook the impact on
ecosystems. Shiva advocates for 'seed freedom,' opposing multinational corporations'
control over seeds, which she sees as a threat to life's evolution. She calls for a new
paradigm to live harmoniously with nature, criticising globalisation as a force that
perpetuates inequality, environmental destruction, and cultural erosion, calling it a 'war

against nature, women, children, and the poor.'

SubQuestion No : 49

Q.49 Select the most appropriate ANTONYM of the word ‘unleash’ as used in the given

passage.
Ans x 1. Letloose
x 2. Shoot
x 3. Release

« 4. Restrain
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Comprehension:

Read the following passage and answer the questions that follow.

Vandana Shiva, a renowned environmentalist and social activist, opposes aspects of
globalisation that harm life and society. With a background in science and philosophy, she
critiques the Green Revolution and Genetically Modified Organisms (GMOs) for their
adverse effects on India's indigenous farming. She criticises the idea that everything is
hard matter, unrelated to each other. Her work on quantum theory emphasises
interconnectedness of all life. She believes that science is taught in a one-eyed fashion: all
about how to unleash things into the environment but not the impact. She argues that the
current scientific approaches, influenced by mechanistic thinking, overlook the impact on
ecosystems. Shiva advocates for 'seed freedom,' opposing multinational corporations'
control over seeds, which she sees as a threat to life's evolution. She calls for a new
paradigm to live harmoniously with nature, criticising globalisation as a force that
perpetuates inequality, environmental destruction, and cultural erosion, calling it a 'war

against nature, women, children, and the poor.’

SubQuestion No : 50
Q.50 From her phrase 'new paradigm for living on the earth’, it can be deduced that:
Ans x 1. globalisation transforms every community into a war zone
x 2. women play a vital role in maintaining a sustainable relationship with the earth
x 3.itis high time to stop using chemical fertilisers as they are of no use

« 4. ecological agriculture is the need of the hour as it rejuvenates biodiversity

Section : General Hindi and Comprehension
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Q.51 fFHferfEd ¥ F &I=-31 Juaras [AAV RS 872
Ans 1. 38l
x 2. bl

x3.9d
;(4.3f:ﬁ

0.52 fferf@a faeedl ¥ 3 9l faeiq-3 gfv
Ans 1.9 5-cg

x 2. S-cidl

x 3.7[5-9g

x 4. 541"
Q.53 ‘U1 UR P BgHAT Yera¥ &I T 3 g2
Ans x 1.9F BRAl

v 2. 3R & Bl

x 3. [Ae™ o1 &3

x 4. 3T AfSId g

Q.54 “gTe g1 &I r-t II=1 qgra¥ &1 F=Im 31ef &2
Ans  x 1.§" drsl gl
x 2. 9gd Fane i g

3. 9gd 334l g
x 4. 91 8T

Q.55 fferfdd faeedl # & A facliv-goa gfAe.
Ans x 1. fga-Aigq

x 2. fFaa-fAame

x 3. FAga-fAafaa

¢ 4. FAga-3fagd
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Comprehension:

1 U oTC g Y e 9 UE 3R g8 0 9l &b IR G|

RyAT-FR § U1 foRT dRE & 297 f3unv 3ird €, 341 aob! & aRA IR =1 YRUMH WP AR &b
BE G20l 716 I I BH 39 b HHRI Bl RAAH G@ BT BILA FA0e B3 fdm &1 &1 3R 816 & A
B8 3 Wsiid ®Y H fE@IU STd €. 371 fob:fl & IR IR off <1 IR A&l U8 Jebell| AR B
DI §&I TR dl 3BT 3R ST TR &Il & b [l & 7 39 B ®Y & o1~ &bl IeT HI ¢ 3R
331 Sierari § gaeh 41 8 &1 e apft RS & 31eterdT Jas! &1 9gd $8 3UBR & Bl 310 6
STl 81 9P, Sfererd, 3R 3fE fawl by fRvam Rl g1 9gd & FRel 3R 7T 8 18 8, 1R
f1er-Rigia & 7dsl & 3 fAer-favgs RfFue off Gy I Wiell 78l G d | b1 AR ST W14 al
eI 8T, 76 SHcdl B AR o 1Y, W siifegeb b H 203 9] aefl usehl g1 aigap! § ot fSrsnar-gia
Bl &, 39 AT B BT gl Ble WIeH 7811 d bl ARG I a&d &, gfag 3R o Afeh I 1A A
BT 3% PIS TaR T8I AeAdT| 59 dvg 3761 09 AerI-Or & sar & 3R 39% fa=r &I orfte e
& Sl 81 I8l A 13 3I7epT BT ¢ 13 IR Jas! bl AR RAAAd 31 9¢ 18 & 6 9 3 e
37 €, 3P IRIHBAT BT ATG el TG b | ST H 311 opATHD 3R T5-A8 aTd Wil (AbTIer Pl
gl 8, 98 I81 [Sepet gd STTal &1 R R BT TaR oF-feT S o 2T 8, 37 37 fben @5
A ot 7¢I A | 519 dp I g JRATAA 3R el aer IR=ar fthdl & g & 7 5130,
2P JeRA I DI 1M L |

SubQuestion No : 56
Q.56 URBq &1 3fd e gim-
Ans x 1. RAm 3R Q9
x 2. =1 BT g
x 3. a3 JArsT
o 4. R 3R o
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Comprehension:

1 U oTC g Y e 9 UE 3R g8 0 9l &b IR G|

RyA-FR 7 U1 SRy dRE & 299 f3unu 3ird €, 341 Jaob! & aRA 4R =1 YRUMH &P AR &b
BE G20l 716 I I BH 39 b HHRI Bl RAAH G@ BT BILA FA0e B3 fdm &1 &1 3R 816 & A
B8 3 Wsiid ®Y H fE@IU STd €. 371 fob:fl & IR IR off <1 IR A&l U8 Jebell| AR B
DITe §&I TR dl 3BT 3R ST TR &Il & b [l & 7 39 B ®Y & o1~ &bl AL Hl g 3R
331 Sierari § gaeh 41 8 &1 e apft RS & 31eterdT Jas! &1 9gd $8 3UBR & Bl 310 6
STl 81 9P, SfeTerd, 3R 3fE fawl by fram R g1 9gd & FRel 3R 7T 8 18 8, 1R
f1er-Rigia & 7dsl & 3 fAer-favgs RfFue off Gy I Wiell 78l G d | b1 AR ST W14 al
eI 8T, 76 SHcl Bl AR o 1Y, W sitfegep G H 2O 91 aefl sl g1 il § ot fSrsnar-gia
Bl &, 39 AT B BT gl Ble WIeH 7811 d bl ARG I a&d &, gfag 3R o Afeh I 1A A
BT 3% PIS TaR T8I AeAdT| 59 dvg 3761 09 AerI-Or & sar & 3R 39% fa=r &I orfte e
& Sl 81 I8l A 13 I7epT BT ¢ 1 IR Jac! bl AR RAAAd Sa-1 9¢ 18 & 6 9 3 e
WA g, 376! IRIfBA Bl ATE 78 IW b | TeAD! H 31 fBATHS 3R T5-78 &Td WIS AT~ Hi
g 8, 98 I81 fepet gd STTal &1 HOR RAAA BT FaR - Sedn 5 2@ 8, 37 37 fben @5
A ot 7¢I A | 519 dp I g JRATAA 3R el aer IR=ar fthdl & g & 7 5130,
b JeRA I DI 1M L |

SubQuestion No : 57
Q.57 RAmT WM ®t i feom doft & Wedn &, 5i9-
Ans x 1. 3% 0T J2mefR® &
X 2.39% (o1 § qrafSie-rsifae 8ie off &
x 3. 39! fmfor T B &
o 4. 3BT (AT Tl 3R YRargui €1 3 fan 12 &
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Comprehension:

1 U oTC g Y e 9 UE 3R g8 0 9l &b IR G|

RAAT-FR & U1 foRT dRE & 297 f3unu 3ird €, 341 Jaob! & aRA 4R =1 YRUMH &P AR &b
BE G20l 716 I I BH 39 b HHRI Bl RAH G@ BT BILA F0e B3 fadm &1 &1 3R 216 & A
B8 3 Wsiid ®Y H fE@IU STd €. 371 fob:fl & IR IR off <1 IR A&l U8 Jebell| AR B
DITe §&I TR dl 3BT 3R ST TR &Il & b [l & 7 39 B ®Y & o1~ &bl AL Hl g 3R
331 Sierari  gaeh 41 8 &1 el aapft RS & 31eterdT Jao! &1 9gd $8 3UBR & Bl 310 6
STl 81 9P, Sfererd, 3R 3fE fawl by fRvam Rl g1 9gd & FRel 3R 7T 8 18 8, 1R
f1er-Rigia & 7dsl & 3 fAer-favgs RfFue off Gy I Wiell 78l G d | b1 AR ST W14 al
eI 8T, 76 $Hdl B 3R o 1Y, W siifegep b H 2O 91 aefl usehl g1 aigap! & St fSrsnar-gia
Al 8, 3 AT~ PR BT Al PIg AIeH el | I el Al I & 8, g 3R Jai1 ARh A H1H a4
BT 3% PIS TaR T8I AeAdT| 59 dvg 3761 09 AerI-Or & sar & 3R 39% fa=r &I orfte e
& Sl 81 I8l A 13 I7epT BT ¢ 1 IR Jac! bl AR RAAAd Sa-1 9¢ 18 & 6 9 3 e
3 ¢, 3P IRIHBAT BT ATG el TG b | ST & 311 pATHD 3R T5-78 aTd Wi (APl Pl
gl 8, 98 I81 [Sepet gd STTal &1 R R BT TaR oF-feT S o 2T 8, 37 37 fben @5
A ot 7¢I A | 519 dp I g JRATAA 3R el aer IR=ar fthdl & g & 7 5130,
2P JeRA I DI 1M L |

SubQuestion No : 58
Q.58 =l & fAAHT A q¥ 3@ A1fgv| Hife-
Ans  x 1.3 G UIdS B1d &

x 2. 376 I e &t &

x 3. 3P §&d I Bl &
« 4. 37 3fRa-313Rd I fqde [ 78l &l &
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Comprehension:

1 fEU oTu gR<sg Y e 9 UE 3R g8 70 9l &b IR G|

RAAT-FR & U1 foRT dRE & 297 f3unu 3ird €, 341 Jaob! & aRA 4R =1 YRUMH &P AR &b
BE G20l 716 I I BH 39 b HHRI Bl RAH G@ BT BILA F0e B3 fadm &1 &1 3R 216 & A
B8 3 Wsiid ®Y H fE@IU STd €. 371 fob:fl & IR IR off <1 IR A&l U8 Jebell| AR B
DI §&I TR dl 3BT 3R ST TR &Il & b [l & 7 39 B ®Y & o1~ &bl AL hI g 3R
331 Sierari  gaeh 41 8 &1 el aapft RS & 31eterdT Jao! &1 9gd $8 3UBR & Bl 310 6
STl 81 9P, Sfererd, 3R 3fE fawl by fRvam Rl g1 9gd & FRel 3R 7T 8 18 8, 1R
f1er-Rigia & 7dsl & 3 fAer-favgs RFue off Gy I Wiell 78l G d | b1 TR ST W14 al
eI 8T, 76 $Hdl B 3R o 1Y, W siifegep b H 2O 91 aefl usehl g1 aigap! & St fSrsnar-gia
Al 8, 3 AT~ PR BT Al PIg AIeH el | I el Al I & 8, g 3R Jai1 ARh A H1H a4
BT 3% PIS TaR T8I AeAdT| 59 dvg 3761 09 AerI-Or & sar & 3R 39% fa=r &I orfte e
& Sl 81 A8l AP 13 I7epT el ¢ 13 IR Jas! bl AR RAAA 31 9¢ 18 & 6 9 3 e
3 ¢, 3P IRIHBAT BT ATG el TG b | ST & 311 pATHD 3R T5-78 aTd Wi (APl Pl
gl 8, 98 I81 [Sepet gd STTal &1 R R BT TaR oF-feT S o 2T 8, 37 37 fben @5
A ot 7¢I AeAd | 519 dp g g JRATA 3R el aer IR=ar fthdl & g § 7 3130,
2P JeRA I DI 1M L |

SubQuestion No : 59
0.59 39 AGHTY &I Sl & folv MINS & fob-
Ans x 1. ATB-A1® UG &

x 2. g9 emarT &
v 3. T JRIAA-IRFTaH Afehdl & g2 F &
x 4. 9 & fau 3de &
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Comprehension:

A §U 510 g Bl &4 I U 3R g8 0 9 & 3R S|

R=1- =T 8 U1 foRT aRE & 299 faIV ST1d &, 31 bl & AR IR g1 IRUMH @R IRIY &
BE G20l 716 I I BH 39 b HHRI Bl RAH G@ BT BILA F0e B3 fadm &1 &1 3R 216 & A
BIE g4 Folld Y H fa@mw 377 &, 3761 fobeit & IRA IR ot <61 3RR 78l U Febell| $HARI &
BT §&T IR A 3BT 3R ST WIS 8T & b fraal & 7 30 &rd ®q ¥ A1 H IoT T g 3R
3151 Sier@l i § Tabl 419 38 &1 RIGTgari R & et g o1 9gd P& JUBR Gl bl 37120 Bl
STl &1 9pired, Sfgr, R 37T fawT & e Rl gRT 9gd & IRl 3R AR @ 18 8, R
fren-Rgid & Adsi &1 I PAan-favges Fgue off QY I Wrefl 98l i@ d | 39PT 3R 8d-1 WIS dI
eI 8T, 76 $Hdl B 3R o 1Y, W siifegep b H 2O 91 aefl usehl g1 aigap! & St fSrsnar-gia
2l &, 39 AT B BT Jgl Ble WIeH 7811 d Sadl ARG I a&d &, gfag 3R o Afeh I 1A
BT 3% PIS TG Te! AeAdT| 59 dvg 3761 09 AeI-r & sar & 3R 39 fa=R &I orfte e
& STl &1 T2l b 13 3BT Bl & feb gk gah! I AR RATATAT - §¢ 718 & o6 3 51 293
WA g, 376! IRIfEA Bl ATE 78 IW b | TAD! H 3N fBATHS 3R T5-78 aTd WIS AP~ Hi
ygfa &, 98 I fSedpel ad Sl &1 PR YA &7 YaR fG7-faT Sgdn 31 381 8, 3R 3/ fbey @ty
q off 7 eTd | 519 dP I8 ey AT 3R foarefia aen aRar fedl & g & 9 S,
2P JeRA I DI 1M L |

SubQuestion No : 60

Q.60 RAAH1 &1 AHIsT J AT Ade g AR 2
Ans x 1. I3RS 3R AT

x 2. YAl 3R Hiede

« 3. IR 3R YAt

X 4. PIUfD 3R ady

Section : Basic Knowledge of Computer
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Q.61 Which of the following steps is typically involved in configuring a web browser to

use a proxy server?
Ans x 1. Open the command prompt -> Type in the proxy server address -> Press Enter

x 2. Install a third-party application -> Run the application -> Enter the proxy server
details

« 3. Open the web browser -> Navigate to the settings menu -> Select the 'Network' or

'Connection' settings -> Enter the proxy server details

x 4. Restart the computer -> Hold down the F8 key -> Configure the proxy server in safe

mode

Q.62 Cyber security is a combination of

Ans X 1. confidentiality. integrity and authorisation
X 2. confidentiality. integrity and authenticity
« 3. confidentiality, integrity and availability
X 4. confidentiality, integration and availability
Q.63 Which of the following options is NOT present under the Start button - Power
button icon on a Windows desktop?
Ans . 1.Sign-in options
X 2. Restart
x 3. Shut down

x 4. Sleep

Q.64 Which of the following actions allows you to insert an MS Excel worksheet into

an MS PowerPoint presentation?
Ans x 1. Click on 'File' and select 'Import'.
x 2. Right-click on the slide and choose 'Insert Chart'.
x 3. Use the 'Home' tab to copy and paste the worksheet.
« 4. Click on the 'Insert' tab and select 'Object'.
Q.65 Which of the following is a common method that computer viruses use to
propagate?
Ans x 1. Hardware upgrades
« 2. Email attachments
x 3. System updates

x 4. Software licensing
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Q.66 Which of the following steps is used to open a spreadsheet in MS Excel?

Ans x 1. Use the key combination of Alt+Z -> Select Open -> Press Enter
x 2. Use the key combination of Alt+E -> Select Open -> Press Enter
« 3. Use the key combination of Alt+F -> Select Open -> Press Enter

x 4. Use the key combination of Alt+M -> Select Open -> Press Enter

Q.67 In MS PowerPoint, which feature allows a user to run a slide show on one monitor

while editing the presentation on another monitor?
Ans 1. Presenter View
x 2. Normal View
x 3.Slide Sorter View

x 4. Review Mode

Q.68 What is one of the key challenges of e-commerce?
Ans 1. Cybersecurity threats

x 2. Inability to operate 24/7

x 3. High physical store costs

x 4. Limited product availability

Q.69 Which of the following fields in an email is used to specify the primary

recipient(s) of the email message?
Ans 1. To
x 2.CC
x 3. BCC

x 4. Subject

Q.70 Which of the following options is NOT used in MS Excel to sort data?

Ans X1 gortAtoZ
« 2. Automatic Sort
X 3. Custom Sort

X4 sortZtoA
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Q.71 In MS Word, which of the following steps correctly describes the method to
create a new document based on a custom template that one has saved in a

specific folder on the computer?

Ans 1. Go to the File tab, select New, click on Personal, browse for the custom template

folder, and open the template.
% 2. Go to the Home tab, click on New Document, and browse for the custom template.
x 3. Go to the Insert tab, click on New Document, and select the custom template.

x 4. Go to the View tab, click on New, and select the custom template.

Q.72 Which of the following folders in an email system contains the emails you have

sent to others?
Ans 1. Outbox
x 2. Drafts
x 3.Spam

x 4. Inbox

Q.73 Cybersecurity is essential for businesses in order to:
Ans x 1. avoid paying taxes

% 2.improve the internet browsing speed

x 3. ensure that their computers run faster

« 4. protect sensitive data from unauthorised access

Q.74 Which of the following options is used to change the size of font in MS Word?
Ans x 1. Paragraph

x 2. Styles

« 3. Font

x 4. Clipboard
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Q.75 Match the options of printing settings from Group A with their descriptions in
Group B.

Group A Group B

1. Print All Pages i. Just what you selected

2. Print Selection ii. Just this page

3. Print Current Page iii. The entire document

4. Custom Print iv. Type specific pages, sections and ranges
Ans  x 1. 1-i, 2-ii, 3-iii, 4-iv
o 2. 1-ii, 2-1, 3-ii, 4-iv
x 3. 1-ii, 2-iv, 3-i, 4-iii

x 4. 1=y, 2-iii, 3-ii, 4-i

Q.76 How does a user add a new printer in Windows 10?7

Ans x 1. Change the system date and time to enable printer addition
x 2. Use the 'Add or Remove Programs' feature in Control Panel
x 3. Open Task Manager > Select 'Add Printer’

« 4. Go to Settings > Devices > Printers & scanners > Add a printer or scanner

0.77 ‘Which of the following steps must one follow to change the date and time in the Windows operating system?

Ans X 1. Go to Start - Settings - System -> Date & time
X 2. Go to Start - Settings - Network & Internet -> Date & time
X 3. Go to Start -> Settings - Device -> Date & time

« 4. Go to Start -> Seftings -> Time & language -> Date & time

Q.78 Which of the following is NOT a type of installation in Windows 0S?
Ans 1. Double-location installation

x 2. Parallel installation

x 3. Direct installation

x 4. Single-location installation
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Q.79 How many levels of nesting are done in the following MS Excel formula?

=IF(AVERAGE(F2:F5)>50,SUM(G2:G5),0)
Ans x 1.0ne
& 2. Two
x 3. Four

x 4. Three

Q.80 When sorting a column with mixed data types (e.g., text and numbers), what will
MS Excel do?

Ans x 1. Display an error message
x 2. Sort text and numbers together in random order
« 3. Sort text first, then numbers
% 4. lgnore all text values and only sort numbers
Q.81 If 4% of x = 264, then x is equal to:
Ans x1.6700
% 2.13300
¢ 3. 6600

x 4.13200

Q.82 A shopkeeper lists the price of a fan at 55% above its cost price and offers a 30%
discount on its list price. If he earns a profit of ¥136, then what is the list price
(in ¥) of the fan?

Ans x1.2,194
x 2.2,365
v 3.2,480

x 4.2,558
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Q.83 The income of Amit in 2019 was ¥23,500. He gets an increment of 10% every
year. What was his income (in ¥) in 20217

Ans x1.23,500
x 2.28,200
x 3. 25,850

v 4. 28,435

Q.84 There are two pipes that can fill a tank together in 12 minutes. If one pipe fills the
tank one and a half times faster than the other, how long (in minutes) will it take

for the faster pipe to fill the tank on its own?
Ans x1.22
¢ 2.20
x3.18

x 4.24

Q.85 5 times the present age of Renu is 19 years more than 3 times the present age of
Manav, and 8 times the present age of Manav is 9 years less than 5 times the

present age of Renu. The sum of the present ages (in years) of Renu and Manav
is:
Ans x 1.9
2.7
x3.5

x 4. 11

Q.86 Tap A can fill a bucket 1.5 times faster in comparison to tap B. It takes 12 minutes
for tap A and B to fill the bucket together. How much time will tap B alone take
to fill the bucket?

Ans x 1.18 minutes
x 2.22.5 minutes
* 3. 21 minutes

« 4.30 minutes
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0.87 Evaluate: 1850 - [450 - {210 - (90 - 70 - 7)}]
Ans x1.1527

x 2.1672

x 3.1457

@ 4.1597

Q.88 A bus covered 65 km in the first hour and 55 km in the next hour. What is its

average speed?
Ans 1.60 km/hr
x 2.62 km/hr
x 3.68.5 km/hr
x 4.55 km/hr

Q.89 In an election between two candidates, the first candidate got 60% of the total
valid votes. 10% of the votes were invalid. If the total number of votes was

10,000, then find the number of valid votes the second candidate got.
Ans x1.3000
v 2.3600
x 3.3100

x 4.4200

0.90 Evaluate: 1850 - [450 - {210 - (90 - 80 - 8)}]
Ans x1.1683

x 2.1468

v 3.1608

x 4.1538
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Q.91 Which of the following is/are the most beneficial for a customer?

Scheme 1) Buy 5 get 4 free.
Scheme 2) Buy 5 get 7.

Scheme 3) Two successive discounts of 10% and 5%.
Ans 1.0nly scheme 1
% 2. Both schemes 1and 2
% 3. Both schemes 2 and 3

x 4.0nly scheme 2

Q.92 80% of the members at the Army club are men and 20% are women. If the
average age of the men is 30 years and the average age of the women is 40

years, then what is the average age (in years) of all the members?
Ans x1.30
x2.34
x 3.31

#4.32

0.93 The ratio of the monthly income of P to the monthly income of Q is 7: 10, and P's

- % more than Q's savings. Find the expenditure of P if the sum of

saving is
the monthly income of P and Q is 85,000, and the expenditure of Q is $22,000.
Ans  x1.%12,000
X 2.%8,000
v 3% 1,000
x4.%1,500
Q.94 The marked price of a cooker is same at four shops |, II, Il and IV. Shop | allows
two successive discounts of 46% and 62%, shop Il allows successive discounts of
16% and 77%, shop Il allows successive discounts of 74% and 54% and shop IV

allows successive discounts of 12%, 98% and 86% on the marked price of the

cooker. Which shop is selling the cooker at the lowest price?
Ans x 1.1l
x 2.1
@ 3.V

x 4.1
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Q.95 P sells an item to Q at 20% profit. Q sells the same item to R at 72% loss. If R
paid 4,116 for the item, then at what price (in ¥) was the item purchased by P?

Ans x1.12,248
x 2.12,253
x 3.12,252

v 4.12,250

0.96 Solve the followmg.

83 +82F410f2—-4x%X2
Ans x 1.2

v 2. 13
x 3.31
x 4.1
Q.97 Three years ago, the age of A was three times the age of B. The ratio of their
present ages is 7 : 3. Find the sum of their present ages.
Ans x 1.50 years
« 2.30 years
x 3. 20 years

x 4.40 years

Q.98 The average of 6.5, 10.6, 19.7 and a is 14. The value of a is:
Ans x1.20.2

x2.21.2

v 3.19.2

x4.18.2

Q.99 Two express trains of lengths 320 m and 380 m started moving from Ahmedabad
to Delhi at the same time. Their speeds are 84 km/h and 42 km/h, respectively. In

how many seconds will the faster train cross the slower train?
Ans »1.60 sec

x 2.45 sec

x 3.120 sec

x 4.50 sec
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Q.100 125 343

s _ _ 5 G
Simplify the given expression. (a) x (E) = (—)
Ans 1. 15
52
19
48

»3 16
49

x 4. 17

50



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

